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TS16/1

* The main object of the Article 13 of the Indian
Constitution is to secure the paramountcy of the
Constitution in regard to:

A) Directive Principles of State Policy

B) Fundamental Rights

C) Fundamental Duties

D) All of the above




TS16/2

 Match List I with List II and select the correct answer
using the codes given below:

List I List 11
(Committees) (Chaired by)

a) Disinvestment in PSUs 1. Rajah Chelliah
b) Industrial Sickness 2. Onkar Goswami
c) Tax Reforms 3. R N Malhotra

d) Reforms in Insurance Sector 4. C Rangaranjan
Code: a d
A) 1 3
B) 4 3
C) 4 3
D) 1 2




TS16/3

* Where is the mausoleum of Shershah?

A) Sasaram

B) Delhi

C) Kalinjar

D) Sonargaon




TS16/4

* Which one of the following countries had more or less
evolved a two-party system?

A) Sri Lanka

B) Bangladesh

C) Pakistan

D) Myanmar




TS16/5

* The largest producer of natural rubber in the world is
A) Brazil

B) India

C) Malaysia

D) Thailand




TS16/6

* India is the leading producer of the world in

A) Diamond
B) Iron ore
C) Mica

D) Tungston




TS16/7

* Which of the following would lead to malnutrition?

1. Overnutrition
2. Undernutrition
3. Imbalanced nutrition

Select the correct answer using the codes given below:

A) 2 alone
B) 2and 3
C)1and 3
D) 1,2 and 3




TS16/8

* Which of the following statements is/are correct with
reference to Sethu Bharatam?

A) It aims to make all National Highways free of railway
level crossings

B) It is about digging deep canal through Gulf of Munnar

and Palk Strait which will permit sailing of big ships and
hence reduces the distance between West coast and East
coast of India

C) Both A and B

D) None of These




TS16/9

* In which of the following countries will the no confidence
motion to bring down the government passed by the
legislature be valid only when the legislature is able to
find simultaneously a majority to elect successor
government?

A) France

B) Germany

C) Italy

D) Portugal




TS16/10

* [t is possible to produce seedless tomato fruits by:

A) applying trace elements in tomato fields

B) spraying mineral solution on plants
C) spraying hormones on flowers

D) applying fertilizers containing radioactive elements




TS16/11

* Consider the following statements
1. In India the minimum denomination coin acceptable
for transaction is 50 paisa

2. Coins below 50 paisa is not legal tender for payment.

Which of the statements given above is/are correct?

A) 10nly

B) 2 only

C) both1and 2
D) Neither 1 nor 2




TS16/12

* As per the 2011 Census the correct ascending order of the
following States in terms of literacy is

A) Bihar, Rajasthan, UP, MP

B) UP, Bihar, MP, Rajasthan

C) Rajasthan, MP, Bihar, UP

D) MP, Bihar, Rajasthan , UP




TS16/13

* Consider the following taxes:

1. Corporation tax
2. Custom Duty

3. Wealth Tax
4. Excise Duty

Which of these is/are indirect taxes?

A) 10nly

B) 2 and 4
C)iand 3
D) 2and 3




TS16/14

* Which one of the following is NOT a feature of Limited
liability Partnership firm?

A) Partners should be less than 20

B) Partnership and management need not be separate

C) Internal governance may be decided by mutual
agreement among partners

D) It is a corporate body with perpetual succession




TS16/15

* Consider the following statements:
The functions of commercial banks in India include-

1. Purchase and sale of shares and securities on belf of
customers

2. Acting as executors and trustees of wills

Which of the statements given above is/are correct

A) 10nly

B) 2 only

C) Both A and B
D) Neither A nor B




TS16/16

* A tree species in Mauritius failed to reproduce because of

extinction of a fruit eating bird. What was the name of
the bird?

A) Dove
B) Dodo

C) Condor

D) Skua




TS16/17

* World Sustainable Development Summit-2018 was held
at:

A) New Delhi

B) Abu Dhabi

C) Ashgabat

D) None of the above




TS16/18

 Match List I with List II and select the correct answer
form the codes given below:

List I list I1
(Newspaper) (Person who started it)
a) Bombay Chronicle 1. Annie Besant

b) Commonweal 2. Madan Mohan Malyia
c) Leader 3. Feroz Shah Mehta

d) Searchlight 4. Sachchidanand Sinha

Code:
A)
B)
C)
D)




TS16/19

» With reference to the Charter Act of 1813, consider the
following statements,
1. The Act expressly asserted the Crown’s sovereignty over
British India
2. It allotted Rs. 100,000 to promote education in India
3. Christian missionaries were allowed to come to British
India and preach their religion .

Which of the above statements are incorrect?

A) All

B) None
C) 2 only
D) 3 only




TS16/20

* With reference to the Constitution of India, consider the
following:
1. Fundamental Rights
2. Fundamental Duties
3. Directive Principles of State Policy

Which of the above provisions of the Constitution of
India is/are fulfilled by the National Social Assistance
Programme launched by the Government of India?

A) 10nly

B) 3 only

C) 1and 3 only
D) 1,2 and 3




TS16/21

* The largest contribution to the export earnings of India
comes from the export of:

A) Agricultural products

B) Gems and jewellery

C) Machinery

D) Textiles and ready-made garments




TS16/22

 The colour of a star is an indication of its

A) distance from the Sun

B) Luminosity

C) distance from Earth

D) Temperatur




TS16/23

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I (Oceanic Trench) List II (Location)
a) Aleutian 1. Indian Ocean
b) Kermadec 2. North Pacific Ocean
¢) Sunda 3. South Pacific Ocean

d) S Sandwich 4. South Atlantic Ocean

Code:
A)
B)
C)
D)




TS16/24

 Ranikhet disease is related to:

A) Chicken
B) Cows

C) Goats

D) Horse




TS16/25

* Who has control over the ‘issue of money’ from the
Consolidated Fund of India?

A) Comptroller and Auditor General of India

B) Finance Minister of India
C) Authorized Minister

D) None of them




TS16/26

» With reference to coal production in India. Consider the
following statements:
1. Major portion of produced coal in India is of Lignite
type
2. Bituminous type of coal contains highest carbon
content among all types of coal
3. Bituminous is mainly a coking category coal and
thereby is highly useful for steel industry in India

Select the correct statements from the options given
below:

A) 10nly

B) 1and 2 only

C) 3 only

D) None of the above




TS16/27

* Pascal is a unit of measuring:

A) Humidity
B) Pressure

C) Rainfall

D) Temperature




TS16/28

» With reference to the blood in a normal person, which
one of the following statements is correct?

A) Compared to arteries, veins are less numerous and
hold less of the body’s blood at any given time

B) Blood cells constitute about 70% of the total volume of

the blood

C) White Blood Cells (WBC) are made by lymph nodes
only

D) The blood has more platelets than WBCs.




TS16/29

e [ron content is found maximum in:

A) Beans

B) Eggs

C) Green Vegetables

D) Milk




TS16/30

» With reference to colonial rule in India, what sought by
[Ibert bill in 1883

A) Civil service reforms

B) Entry of Indians into viceroys executive council

C) to curtail Freedom of Press

D) To abolish the racial prejudice from the Indian Penal
Code




TS16/31

* Which one of the following Acts of British India
strengthened the Viceroy’s authority over his executive
council by substituting ‘portfolio’ or departmental system
for corporate functioning?

A) Indian Councils Act, 1861

B) Government of India Act, 1858

C) Indian Councils Act, 1892

D) Indian Councils Act, 1909




TS16/32

* The pioneer of natural farming is:

A) Masanobu Fukuka
B) M. S. Randhawa

C). M. S. Swaminathan

D) Norman Borlaug




TS16/33

* Which Article of the Constitution of India deals with the
appellate jurisdiction of the Supreme Court in connection
with constitutional cases?

A) Article 131
B) Article 132

C) Article 132 read with Article 134A

D) Article 133 read with Article 134A




TS16/34

* Consider the following statements about the megacities
of India:

1. Population of each megacity is more than 5 million
2. All the megacities are important sea ports
3. Megacities are either national or state capital

Which of these statements are correct?

A)1,2and 3
B) 1and 2
C)2and3
D)1and 3




TS16/35

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I List I1

a) Discovery of transduction and 1. Khurana
conjugation in bacteria

b) Establishing the sex-linked 2. Kornberg
inheritance

c) Isolation of DNA polymerase 3. Lederberg
from E. Coli

d) Establishing the complete 4. Morgan
genetic code

Code:
A)
B)
C)
D)




TS16/36

 Match List I with List II and select the correct answer
using the codes given below:

List I List II
(Author) (Text)
a) Varahamihira 1. Prabandha-Chintamani
b) Visakhadatta 2.Mrichchha-Katikam
c) Sudraka 3. Brihat-Samhita
d) Bithana 4. Devi-Chandraguptam
5. Vikramankadeva charita

Code:
A)
B)
C)
D)




TS16/37

* Which one of the following duties is NOT performed by
the Comptroller and Auditor General of India.

A) To audit and report on all expenditure from the
Consolidated Fund of India

B) To audit and report on all expenditure from the
contingency Fund and Public Accounts

C) To audit and reports on all trading, manufacturing,
profit and loss accounts

D) To control the receipt and issue of public money, and
to ensure that the public revenue is lodged in the
exchequer




TS16/38

* The Parliament can make any law for the whole or any
part of India for implementing International treaties:

A) with the consent of all the States

B) with the consent of majority of the States

C) with the consent of the States concerned

D) Consent of any State not required




TS16/39

 Match the List I with List II and select the correct answer
using codes given below:

List I List I1
a) Surat Split 1.1929
b) Communal Award 2.1928
c) All Party Convention 3.1932
d) Poorna Swaraj Resolution 4. 1907

5- 1905




TS16/40

* ‘Metastasis’ is the process by which:
A) cells divide rapidly under the influence of drugs

B) cancer cells spread through the blood or lymphatic
system to other sites or organs

C) the chromosomes in cell nuclear are attached to the
spindle before moving to anaphase poles

D) cancer cells are successfully inhibited to divide any
further




TS16/41

* With reference to soil conservation, consider the
following practices:

1. Crop rotation
2. Sand fences

3. Terracing
4. Wind breaks

Which of the above are considered appropriate methods
for soil conservation in India?

A) 1,2 and 3 only
B) 2 and 4 only
C) 1,2 and 4 only
D) 1,2,3and 4




TS16/42

* Enzymes basically are:

A) Fats

B) Sugar

C) Protein

D) Vitamin




TS16/43

* Match the List [ with List II and select the correct answer using

the codes given below the lists:

List I
a) Central Institute of Higher
Tibetan Studies
b) Indra Gandhi Institute of
Development Research
C) National Institute of Mental
Health and Neuro science

d) Central Institute of English
and Foreign Languages

Code: a b C d
A)

List II
1. Hyderabad

2. Mumbai
3. Bangalore
4. Dharmshala

5. Varanasi




TS16/44

* The Balkan Plan for fragmentation of India was the

brainchild of:

A) W Churchil

B)M A Jinnah

C) Lord Mountbatten

D) V P Menon




TS16/45

 Match List I with List II and select the correct answer
using the codes given below:

List I List II

(City) (Industry)
a) Coimbatore 1. Petroleum Refining
b)Rourkela 2. Rail Coach

c) Kapurthala 3. Iron and steel
d) Barauni 4. Cotton Textile

Code: a
A) 4
B) 1
C) 2
D) 4




TS16/46

 Match List I with List II and select the correct answer
using the codes given below:

List I (Commission)
a) Wadhwa Rajiv

b) Liberhan

c¢) Sri Krishna

d) Jain

Code:
A)
B)
C)
D)

List II (Enquiry)
1. Assassination of Gandhi
2. Killing of Graham Staines
3. Demolition of Religious
place
4. Riots in Mumbai in 1903




TS16/47

* Consider the following statements:
1. Tides are of great help in navigation and fishing
2. High tide enables big ships to enter or leave the harbor
safely
3. Tide prevents siltation in the harbors
4. Kandla and Diamond Harbor are tidal ports

Which of the these statements are correct?

A)1and 4

B) 2,3and 4
C)1,2and 3
D) 1,2,3and 4




TS16/48

* Which one of the following pairs of primitive tribes and
places of their inhabitation is NOT correctly matched?

A) Buksa. ::: Pauri Gharwal
B) Kol. ::: Jabalpur
C) Munda. ::: Chhotanagpur

D) Korba. ::: Kodagu




TS16/49

* Which radioactive pollutant has drawn the attention of
public, due to occurrence in building material?

A) Plutonium
B) Thorium
C) Radon

D) Radium




TS16/50

* Consider the following statements about the Indian
National Congress:
1. Sarojini Naidu was the first woman to be the President
of the Congress
2. C R Das was in prison when he functioned as the
President of the Congress
3. The first Brithisher to become the President of the

Congress was Alan Octavian Hume
4. Alfred Webb was the President of the Congress in 1894

Which of these statements are correct?
A)1and 3

B) 2 and 4

C) 2,3and 4

D) 1,2,3and 4




TS16/51

* Consider the following statements regarding the
earthquakes:
1. T{le intensity of earthquake is measured on Maracalli
Scale
2. The magnitude of an earthquake is a measure of energy
released
3. Earthquake magnitudes are based on direct
measurements on the amplitude of seismic waves

4. In the Richter Scale, each whole number demonstrate a
hundred fold increase in the amount of energy released

Which of these statements are correct?

A)1,2and 3
B) 2,3and 4
C)1and 4
D)1and 3




TS16/52

* “ In this instance we could not play off the Mohamndans
against the Hindus’.

To which one of the following events did this remark of
Aitchision relate?

A) Revolt of 1857

B) Champaran Satyagraha 1971

C) Khilafat and Non-Cooperation Movement 1919-22

D) August Movement of 1942




TS16/53

* Vidhushaka, a common character in Sanskrit drama, is
invariably a:

A) brahmana

B) Kshatriya

C) Vaisya

D) Shudra




TS16/54

» Match the List [ with List II and select the correct answer

using the codes given below:
List | List I1

a) Land slotted to big feudal 1. Jaghirdar System
landlords

b) Land allotted to revenue 2. Ryotwari System
farmers or rent collectors

c) Land allotted to each peasant  3.Mahalwari System
with the right to sublet,
mortgage, transfer gift or sell

d) Revenue settlements made 4. Zamindari System
at village level




TS16/55

* Which one of the following usage was a post-Vedic
development?

A) Dharma-Artha-KamaMoksha

B) Brahmana-Kashatriya- Vaishya-Sudras

C) Brahmacharya- Grihastashrama- Vanaprastha- Sanyasa

D) Indra-Surya-Rudra- Marut




TS16/56

* The resolution for removing the Vice-President of India
can be moved in the-

A) Lok Sabha alone

B) Either House of Parliament

C) Joint Sitting of Parliament

D) Rajya Sabha alone




TS16/57

* The Uniting for Peace Resolution adopted by the UN has:

A) enhanced the powers of the General Assembly in a
comprehensive way

B) reduced the powers of the General Assembly

C) made no difference to the powers of the General
Assembly

D) empowered the General Assembly to act in specific
situations in matters of peace and security




TS16/58

* Florescent tubes are fitted with a choke. The choke coil:

A) steps up the line voltage

B) steps down the line voltage
C) reduces current in the circuit

D) chokes low frequency currents




TS16/59

* Which among the following grains has maximum protein
content?

A) Cowpea

B) Lentil

C) Pigeon pea

D) Soyabean




TS16/60

* Which of the following taxes is/are levied by the Union
and collected and apportioned by the States?

A) Stamp Duty
B) Passenger and goods tax

C) Estate Duty

D) Taxes on Newspapers




TS16/61

* Which of the following is NOT correctly matched?

A) India’s first technicolor film  :: Jhansi ki Rani

B) India’s first 3-D film. ::: My Dear Kuttichathan

C) India’s first insured Film.  ::: Taal

D) India’s first actress to ::: Meena Kumari
win the Bharat Ratna




TS16/62

* Which organelles in the Cell other than nucleous contain
DNA?

A) Centriole

B) Golgi apparatus

C) Lysosome

D) Mitochondria




T$16/63

* Which one of the following gases is used by plants in
photosynthesis

A) Oxygen

B) Nitrogen
C) Methane

D) Carbon dioxide




TS16/64

* Which one of the following statements regarding ‘Exit
Poll’ is correct?

A) ‘Exit Poll’ is a term used to denote a post election
survey of voters regarding in whose favour they had
exercised their franchise

B) ‘Exit Poll’and Opinion Poll are one and the same

C) ‘Exit Poll’ is a device through which result of the voting
can be most exactly predicted

D) ‘Exit Poll’ is an administrative device made recently by
the Chief Election Commission to prevent impersonation




TS16/65

* ‘Carbon Dioxide’ Injection technology is related to:

A) Biofuel production
B) Medicine and surgery
C) Oil and Gas production

D) None of the above




TS16/66

* Brass is an alloy of:

A) Aluminium and copper

B) Copper and Tin
C) Zinc and Iron

D) Copper and Zinc




TS16/67

 Match the List I with List II and select the correct answer
using the codes:

List I List 11
(Bird Sanctuary) (Place)
a) Nawabganj bird sanctuary 1. Gonda
b) Okhla bird sanctuary 2. Unnao

c) Samaspur bird sanctuary 3. Ghaziabad
d) Parvati Agra bird sanctuary 4. Rae Bareli

Code: b d
A) 4 1
B) 3 1
C) 3 2
D) 4 1




TS16/68

* Tear gas is:
A) Ammonia
B) Chlorine

C) Hydrogen Carbide

D) Hydrogen Sulphide




T$16/69

* Water of which one of the following seas is most saline?

A) Baltic Sea
B) Black Sea
C) Dead Sea

D) Red Sea




TS16/70

* Consider the statements regarding Green Climate Fund:

1. The Fund was formally established during the 2010

United Nations Climate Change Conference in Cancun
and is a fund within the UNFCCC framework
2. The GCF is based in Shanghai, China

Choose the correct statement-

A) 10nly
B) 2 only
C) Both

D) None




TS16/71

e In an open economy, the national income (Y) of the
economy is:

A)Y=C+I1+G+X

B)Y=C+I+G-X+M
OY=C+I1+G+ (X-M)

D)Y=C+I-G+X-M

C= Consumption

[ = Investments

G = Government Expenditure
X = Total Exports

M = Total Imports




TS16/72

* The oldest large scale industry of India is:

A) Cotton textiles
B) Iron and Steel
C) Jute

D) Paper




TS16/73

* Where was the first power plant established in the world?

A) Britain
B) Germany
C) Russia

D) USA




TS16/74

 Tehri Dam is on which river

A) Alaknanda and Mandakini

B)Bhagirathi and Bhilganga

C) Bhagirathi and Alaknanda

D) Yamuna and Ganga




TS16/75

* The provisions relating to fundamental duties in the
Constitutions of India was added on the recommendation

of

A) Balwant Rai Mehta Committee

B) Iyengar Committee

C) Swaran Sigh Committee

D) Thakkar Commission




TS16/76

* The evergreen rainforests are found in:

A) Australia
B) Brazil
C) Canada

D) France




TS16/77

* From which part of the cinchona plant is quinine is
extracted?

A) Bark of the tree
B) Flower

C) Fruits

D) leaves




TS16/78

* The Vice President of India is elected by:

A) The People

B) The Electoral College which elects the President
C) The members of both the Houses of Parliament

D) The State Legislatures




TS16/79

* When the duration of the day and the night is equal, the
rays of the Sun fall directly on:

A) North Pole
B) Equator
C) South Pole

D) Tropic of Cancer




TS16/80

* Consider the following statements regarding environmental
issues of India

1. Gulf of Mannar is one of the biosphere reserve

2. The Ganga Action Plan phase II has been merged with the
National River Conservation Plan

3. The National Museum of Natural History at New Delhi
imparts non-formal education in environment and

conservation

4. Environmental Information System (ENVIS) acts as a
decentralized information network for environmental
information

Which of these statements are correct
A)12and 4 B) 1,2,3and 4
C) 2 and 3 only D) 1,3and 4




TS16/81

* Molasses is an excellent raw material for:

A) Acetic Acid

B) Glycerine

C) Power alcohol

D) Urea




TS16/82

* In which one of the following cases the Supreme Court of
India gave judgement which have a direct bearing on the
Centre-State relations?

A) Keshwananda Bharati case

B) Vishakha case

C) S R Bommai case

D) Indira Sawhney case




T$16/83

 Match the List I with List II and select the correct answer
using the codes given below the lists:

List I (Publisher)
a) Ministry of Industry

b) Central Statistical
Organization
c) Reserve Bank of India

d) Ministry of Finance

List II (Publication)

1. Report of Currency
and Finance

2. Economic Survey

3. Whole Sale Price
Index

4. National Accounts
Statistics




TS16/84

 Swaraj party was formed by:

A) Bal Gangadhar Tilak and Mahatma Gandhi

B) Bipin Chandra Pal and Lala Lajpat Rai

C) C R Das and Moti Lal Nehru

D) Sardar Patel and Rajendra Prasad




TS516/85

* In India El Nino can have comparatively lesser impact on
Sugarcane and Urad production. What are the reasons?

1) Sugarcane is largely grown under irrigated areas
2) Urad is mainly grown in regions where rainfall
variability is very low

3) Urad is drought resistant crop

4) Sugarcane although a kharif crop requires very less
water

Choose the right pair of reasons from the codes below

A) 1and 2 only
B) 1and 3 only
C) 2 and 4 only
D) 3and 4 only




TS16/86

* A person with ‘AB’ blood group is sometimes called a
universal recipient because of the:

A) Lack of antigen in his blood

B) lack of antibodies in his blood

C) lack of both antigens and antibodies in his blood

D) presence of antibodies in his blood




TS16/87

* An air bubble in water will act like a :
A) convex mirror
B) convex lens

C) concave mirror

D) concave lens




TS16/88

* Who among the following was the founder of ‘Dev
Samaj’?

A) Vallabhbhai Patel

B) Dadabhai Naoroji

C) Sivanarayan Agnihotri

D) Ramakrishna Paramhansa




T$16/89

* The first split of Indian National Congress took place in
1907 at:

A) Bombay Session

B) Calcutta Session
C) Lahore Session

D) Surat Session




TS16/90

* The focal length of convex lens is:
A) the same for all colours
B) shorter for blue light than for red

C) shorter for red light than for blue

D) maximum for yellow light




TS16/091

* Consider the following pairs:

Protected Area Well-known for
1) Bhiterkanika, Orissa Salt water Crocodile

2) Desert National Park Great Indian Bustard
Rajasthan

3) Eravikulam, Kerala Hoolak Gibbon

Which of the pairs given above is/are correctly matched

A) 1only B) 1and 2 only
C) 2 only D) 1,2and 3




TS16/92

 The caves and rock-cut temples at Ellora are:

A) Buddhist
B) Buddhist and Jain
C) Hindu and Jain

D) Hindu, Buddhist and Jain




TS16/93

* In which of the following did Sardar Vallbhbhai Patel play
a leading role?

A) Bijolia Movement
B) Dandi March

C) Textile Mill Workers’ Strike at Ahmedabad

D) Bardoli Satyagraha




TS16/94

 Match List I with List II and select the correct answer
using the code given below the Lists:

List I List I1
(Substance) (Physiological role)
a) Ptyalin 1. Converts angiotensinogen in
blood into angiotensim
b) Pepsin 2. Digest Starch
c) Renin 3. Digest Protein
d) Oxytocin 4. Hydrolyses fats
5. Induces contraction of
smooth muscles
Code:
A)
B)
C)
D)




TS16/95

It has been observed that astronauts lose substantial
quantity of calcium through urine during space flight.
This is due to

A) hypergravity

B) microgravity
C) intake of dehydrated food tablet

D) low temperature in cosmos




TS16/96

* Which one of the following important trade centres of
ancient India was on the trade route connecting Kalyana
with Vengi?

A) Tagara
B) Sripura

C) Tripuri

D) Tamralipti




TS16/97

* The Uniting for Peace Resolution adopted by the UN has:

A) enhanced the powers of the General Assembly in a
comprehensive way

B) reduced the powers of the General Assembly

C) made no difference to the powers of the General
Assembly

D) empowered the General Assembly to act in specific
situations in matters of peace and security




TS16/98

* Which of the following statements about the Dunkel draft
is/are correct?

1. [t is mandatory for the Government of India to accept all its
proposals in all the sectors

2. In the field of agriculture, the main proposal is to cut
agricultural subsidies

3. In the field of textiles, it reiterates the operation of the
multifiber agreement

4. The proposal have already been accepted by the Parliament

Select the correct answer form the codes given below:
A) 1only B) 1and 2
C)i,2and4 D)3andg4




TS16/99

* The first to start a joint stock to trade with India were the

A) Portuguese

B) Dutch
C) French

D) Danish




TS16/100

* Which one of the following upheavals took place in
Bengal immediately after the Revolt of 18577

A) Sanyasi Rebellion

B) Santhal Rebellion

C) Indigo Revolt

D) Pabna Revolt
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